Assignment

DSC-C-CLA 2-241 COST ACCOUNTING -2

Q.1 State advantages and disadvantages of Job Costing.
Q.2 Jagat Ram Ltd has production capacity of 10,000 units. In the year 2009 it has produced and sold
at its 40% capacity. The details are as under :

Direct Material consumed 6,00,000
Direct Labour 4,00,000
Factory indirect expenses (40%Variable ). 2,00,000
Office indirect expenses (fixed) 1,60,000
Selling and distribution expenses 2,40,000
Total sales. 20,00,000

Estimate for the year of 2010 :
(1) Production and sales will be at its full production capacity.
(2) 50% of selling and distribution expenses are variable changing along with the units of sales.
(3) Rate of profit for the year 2010 is to be maintained as per last year.
You are required to prepare cost sheets for the year 2009 and 2010, showing total cost and per unit

cost.
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DSC-C-CLA 2-242 CLOUD ACCOUNTING -2
1) Write key components of receivable management and benefits of cloud accounting for receivable

management.
2). Explain the challenges in implementing cloud based Human Resource Management.
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DSC-C-TAX2 243 TAXATION -2

Q.1. Profit and Loss Account for the year ended on 31-3-2024 of Mr
under. Compute his taxable income from Business and Profession.

. Hitenkumar is as

Debit Rs. Credit Rs.
To General Expense 6500 | By Gross Profit 163200
Depreciation 200 Discount And 600
Commission
Bad debt Reserve 500 Rent Income (House) 2700
Provision for taxation 5700 Interest on Post Office 300
Saving’s Account
Income tax 8500 | Surplus on Sale of 7500
Shares
Insurance Premium 800 Profit on Sale of 100
Machinery(Sold Rs.1000)
Motor Car Expense 10500 | Bad Debt Recovered 1600
(without Depreciation)
GST 5500
Staff Salary 68500
Legal Expense 400
Donation to approved 600
Charitable Trust
Net Profit 68300
176000 176000

Additional Information:

(1) Insurance Premium includes Rs. 300 being medi-claim insurance and Rs. 200

being life insurance premium.

(2) 25% of the amount of Bad debts recovered relates to the amount of bad debts

not allowed before three years.

(3) 50% use of motor car is for personal purposes and written down value of the car
as on 1-4-2023 was Rs. 25000. (Depreciation Rate 15%)

Q.2  Write short notes on:

(1) GST Council

(2) Unexplained Income
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DSC-M-STA-244- Industrial Statistics

1.A  What is time series? Explain the components of times series.
B  Fita linear trend from the following data and forecast for the year 2022

Year 2017 2018 2019 2020 2021
Profit (in 10 22 32 28 33
lakhs Rs.

OR

Draw X and R charts for the following data and state your conclusion.

1A. | Sample | 1 2 3 4 5 6 7 8 9 | 10
Mean | 37 | 41 | 40 | 43 | 38 | 40 | 39 | 41 | 39 | 40
Range | 4 8 8 6 | 10 | 14 | 6 4 6 | 12

[ For n=4 , A,=0.73, d3=0, d2=2.28 ]

B. Explain Consumer risk and Producer risk.
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DSC-M-213 INDIAN FINANCIAL SYSTEM (IFS)

1) Write major components of Indian Financial System.
2) Write Functions of commercial banks
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AEC — 245 Fundamentals of Communication in English

Q.1. Briefly discuss any ONE of the following:

1. Principles of Effective Communication

2. Role of Communication Skills in Career and Self Development
3. Overview of Communication

Q.2. Briefly discuss any ONE of the following:
1. Group Communication

2. Professional Communication
3. Interpersonal Communication

SEC-246-2 BANKING

Q-1 Explain monetary policy of Reserve Bank of India with its limitations.

Q-2 Discuss meaning, advantages and disadvantages of Credit card and Debit card.
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VAC-247 N.S.S.

Q.1. Discuss the problems of Environment and techniques of its protection, stability and prosperity.
Q.2.Discuss in detail the issues of waste management.
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